esp-test?2?

R-Feasible(ecl-machine at ”b” with state ecl

eclseq(eclbase(rev(lnk1{a to b},”x”);As,v.
s(7x7)<av).1;eclbase(rev(Ink1{a to b}, y”);As,0. v<25("x")).2)

state variables "x” : Z

actions rev(lnkl{a to b},”x”) : Z & rev(Inkl{a to b},”y”) : Z &
rev(Ink1{b to output},”hello”) : B

sends rcv(lnk1{a to b},”y”) sends on Ink1{b to output}
with tag "hello” [s,v.trues], at marker 2

updates update-specl(rcv(lnk1{a to b},”x”);"x";1;s,0.v) &
update-specl(rev(Inkl{a to b},”y”);"x”;2;8,0.0)
@ @”a” precondition for ”a” (v:Unit):
As,w. s("x7)<10 State("x” : Z) v
@ @”a” effect locl(”a”)(v:Unit) "x” := As,w. s("x”)+1 State("x” : Z) v
@ sends locl(”a”)(v:Unit) on Inkl{a to b}:
tagged([("x7, As,v. [s("x”)])],State("x” : Z),v):"x" : Z
@ sends rev(lnk1{input to a},”key”)(v:Z) on Ink1l{a to b}:
tagged([("y”, As,v. [v])],State(),v):"y” : Z
@ sends rev(lnk1{input to a},”string”)(v:Atom) on Inkl{a to b}:
tagged([("string”, As,v. [v])],State(),v):”string” : Atom
@ sends rev(lnk1{input to a},”b”)(v:B) on Ink1l{a to b}:
tagged([("b”, As,v. [v])],State(),v):"b” : B
@ sends rcv(lnk1{input to a},”hello”)(v:Unit) on Ink1{a to b}:
tagged([("hello”, As,v. [v])],State(),v):"hello” : Unit)
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